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Exercice 0.1 ⋆⋆ Pas de titre

Calculer
∫ 2 +

√

x+ 1

1 +
√

x+ 2
dx.

Solution : Poser t =
√

x+ 2, et ensuite un changement de variables en ch.

t2 = x+ 2, 2t dt = dx, x+ 1 = t2 − 1.

∫

2 +
√

x+ 1

1 +
√

x+ 2
dx = 2

∫

2 +
√

t2 − 1

1 + t
t dt = 2

∫

2 + shu

1 + chu
chu shu du = 2

∫

2 + shu

1 + chu
(1+chu) shu du−2

∫

2 + shu

1 + chu
shu

= 4

∫

shu du+2

∫

2

shu du−4

∫

shu du

1 + chu
−2

∫

sh2 u du

1 + chu
= 4 chu+chu shu−u−4 ln(1+chu)−2

∫

(ch2 u− 1) du

1 + chu

= 4 chu+ chu shu− u− 4 ln(1 + chu)− 2 shu+ 2u+ C

= 4
√

x+ 2 +
√

(x+ 2)(x+ 1)− 4 ln(1 +
√

x+ 2)− 2
√

x+ 1 + ln(
√

x+ 2 +
√

x+ 1) + C,

puisque u = ln(w +
√

w2
− 1) avec w =

√

x+ 2 et donc
√

w2
− 1 =

√

x+ 1.
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